Solutions for Class 7 Maths Chapter 11 9Tdi® 3R °1d
Ex 11.3

Y 1.

faforRaa dwrsl & waid U # ff9u

279404, 3006194, 2806196, 120719, 20068

Bd:

279404 = 2 x 100000 + 7 x 10000 + 9 x 1000 + 4 x 100 + 0 x 10 + 4 x 1
=2x105+7x10*+9x103+4 x102+0x 10" +4 x 10°

3006194 = 3 x 1000000 + 0 x 100000 + 0 x 10000 + 6 x 1000 + 1 x 100 + 9 x 10 + 4 x
1
=3x105+0x10°+0x10*+6x10%3+1x102+9x 10" +4 x 10°

2806196 = 2 x 1000000 + 8 x 100000 + 0 x 10000 + 6 x 1000 + 1 x 100 + 9 x 10 + 6 x
1
=2x105+8x10°5+0x10*+6x10%3+1x102+9x 10" +6 x 10°

120719 = 1 x 100000 + 2 x 10000 + 0 x 1000 + 7 x 100 + 1 x 10 + 9 x 1
=1x10°+2x10*+0x108+7x10%2+1x 10" +9 x 10°

20068 =2 x 10000 + 0 x 1000 + 0 x 100 + 6 x 10 + 8 x 1
=2x10%+0x108+0x 102+6 x 10" + 8 x 10°

Y 2.

faferad vaid 0 # @ ude & | faw I 31d S
(@)8x10*+6x103+0x102+4 x 10" + 5 x 10°

Bd:
8x10*+6x103+0x102+4 x 10" +5x 109=8 x 10000 + 6 x 1000 + 0 x 100 + 4 x
10 + 5 x 1

= 86045

(b) 4 x 105 +5 x 103 + 3 x 102 + 2 x 10°

Bd:

4 x10°+5x 103+ 3 x 102+ 2 x 109 =4 x 100000 + 5 x 1000 + 3 x 100 + 2 x 1
= 405302



()3 x10*+7 x 102+ 5 x 10°

Bd:
3x10*+7%x102+5x%x 10%=3 x 10000 + 7 x 100 + 5 x 1
= 30705

(d)9 x 105+ 2 x 102 + 3 x 10’

Bd:

9 x 105+ 2 x 102+ 3 x 10" =9x 100000+2 x 100 + 30
= 900230

Uy 3.

faferiRad S=msl & AF® ©U H# ad BT
(i) 5,00,00,000

Bd:

5,00,00,000 =5 x 10000000

=5 x 107

(i) 70,00,000
Bd:

70,00,000 = 7 x 1000000
=7 x10°

(iii) 3,18,65,00,000
Bd:

3,18,65,00,000 = 3.1865 x 1000000000
=3.1865 x 10°

(iv) 3,90,878

Bl

3,90,878 = 3.90878 x 100000
=3.90878 x 10°

(v) 39087.8

Bd:

39087.8 = 3.90878 x 10000
=3.90878 x 104

(vi) 3908.78

Bd:

3908.78 = 3.90878 x 1000
=3.90878 x 103



Ty 4.
foferRad &Y=l o Ude g1 arell (39 aTelt) T3 Bl AF® U H ad DIfoId:
a) gt 3R T AT & o9 BT S 384,000,000 m B

Bd:

gt 3R IS & o B gl

= 384,000,000 m = 3.84 x 100000000 m
=3.84 x 108 m

b) fAafd =M & Ut ot A1a (@1 3) |1 300,000,000 misec. g
Bdl:
fafd =M o ye ot 7|
= 300,000,000 m/s = 3.0 x 100000000 m/s
=3.0 x 108 m/s

c) 9edt BT SR 12756000 m &

Bl

gl ol A

= 12756000 m = 1.2756 x 10000000 m
=1.2756 x 10’ m

d) g BT 19 1,400,000,000 m g
Bd:

T4 %1 N = 1,400,000,000 m

= 1.4 x 1000000000 m
=14x10%m

(e) T 3MTHTIFAT H 3= 100,000,000,000 IR Bl
Bd:

STHTIRAT & S aR &

= 100,000,000,000 = 1 x 100000000000 TR

=1x 10" dR

ﬁ%rm?s?«r (@1 IR HUSH) 12,000,000,000 T8 GRMT HTH AId foa T 5|

@Imvs?r 12,000,000,000 I8 QR §
= 12.0 x 10000000000
=1.2x 1010 9%

(g) STHTRAIT & T T JF Bt g 300,000,000,000,000,000,000 m HTHId Bt T8 B
Bdl:

S{THTIAAT o AL I T4 BT g3 = 300,000,000,000,000,000,000 m

= 3 x 100000000000000000000

=3x10m




(h) 1.8 g YR dTelt UHT &1 Tob §g | 60.230,000,000,000,000,000,000 317] (molecules)
gl

Bd:

1.8 g YR dTcl U1 &1 U §g |

= 60,230,000,000,000,000,000,000 = 6.023 x 10000000000000000000000

= 6.023 x 1022

(i) gt ¥ 1,353,000,000 km T 519 B |
Bl

728t # 1,353,000,000 km TS 5 §

= 1.353 x 1000000000

= 1.353 x 109 km?

(j) TS 2001 H YR P SRS 1,027,000,000 At
Bd:

A 2001 H HRA B STGB

= 1,027,000,000 = 1.027 x 1000000000

=1.027 x 10°






